
                                                                                                                                                               www.softschools.com 
 

 

Perimeter of a Rectangle 
 Name:__________________________                                                                                                                          Date:___________________ 

 

 
 

                                         

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 
 

  

 
 

 

 
 

   

 
 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

To find the perimeter of a rectangle, multiply the length and width.  P= 2(L + W). 
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Determine the actual width, height and perimeter of each rectangle and round the perimeter to the nearest 
whole number. 

 
 

Perimeter = 2(11.6 ft + 7 ft) = 37.2 ft = 37 ft 
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1 cm = 4 ft 
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1 cm = 5 ft 
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1 cm = 5 ft 
 
 

Perimeter = 2(19.5 ft + 12.6 ft) = 64.2 ft = 64 ft 
 

 
 
 

Perimeter = 2(24.6 ft + 3.4 ft) = 56 ft = 56 ft 
 

 
 
 

Perimeter = 2(18.4 ft + 14.8 ft) = 66.4 ft = 66 ft 
 

 
 
 

Perimeter = 2(15.3 ft + 31.2 ft) = 93 ft = 93 ft 
 

 
 
 

Perimeter = 2(21.2 ft + 35.2 ft) = 112.8 ft = 113 ft 
 

 
 
 

Perimeter = 2(20.4 ft + 22.6 ft) = 86 ft = 86 ft 
 

 
 
 

Perimeter = 2(15.5 ft + 6 ft) = 43 ft = 43 ft 
 

Perimeter = 2(16.8 ft + 9.2 ft) = 52 ft = 52 ft 
 


